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HEARE M MY T i T8 SER



HKERUVILLIANRE HEFTESE
HEYF ¢50mm 1E - FLUE ¢ 25mm SEAT
NO., 1
& 4 R
I/ £ FBRTZE Bl 5% 8 BHE B _Z
i #
AR
HM#H  PERLOMYIN-LEEIF ¢ 50 P 1 0.68 1.0 1.0
NE#E &E€BN
PVY 3 Uh BB B L { ¢ 50 & 2 20 20
EEERL— T W=150 2% m 2.0 2.0 20
TtURA%S CRIERIH " 1 1.0 1.0
TR ¢ 250
LY Uik R SHEEH: H=100 & 1 1.0 1.0
T+ HA ¢ 250
Ly kv R L T# H=300 & 1 1.0 1.0
TR ¢ 250
LY Uik JEEB (M) H=40 A 1 1.0 1.0
HAE
AR BT CHEmr
SR IL(VPER) @50% ¢25 #H 5 1 + 2 + 2 5.0
22X2 1.3x2
KERA—BRYIFLUE @25 m 8.7 1.7 4+ 44 + 286 8.7
A BHLRN - K ¢ 25 & 5 1 + 2 + 2 5.0
sk A#TF ¢25 & 5 1 + 2 + 2 5.0
mEELRS Y b ¢ 25 & 10 2 + 4 + 4 10.0
4%x2 2X2
eIV ¢ 25 & 14 2+ 8 4+ 4 14.0
FAEH90° AU ¢ 25 & 5 1 + 2 + 2 5.0
JKEFR#ERAR 7Y 625 & 5 1+ 2 o+ 2 5.0
$170 T-25
1EkERwb S FCDEM# & 5 1 + 2 + 2 5.0
o
LEKIE ALY IV EIR v ¢ 200 x H150 & 5 1 + 2 + 2 5.0
hEREE
LEKIE ALY IV EIR YR ¢ 200 x H200 & 5 1 + 2 + 2 5.0
LKA ALY I M AR ¢ 200 x H40 & 5 1 + 2 + 2 5.0
B(0.3+0.5+0.7) X 2 + C(0.7%2)
HERAZH S — FAI 70N W=150 | m 5.4 10 + 30 + 14 5.4
B L—FUy T-25 & 2 1 + 1 2.0




BEKERULLIFARE

HEYF ¢50mm 1E - FLUE ¢ 25mm SEAT

HE

s

NO, 2
& 4 R
Iz £ 2 B # & E %
FE [ T)HT#
AR
TUHEET $50 = 1 1.0
PV
AAZHILEFT FEUETSmmEL T a 4 4 40
BEELE L EYM IETE50mm m| 2 2 20
BEEIEEZILER HF-PVY UL
BHELEHE FEUETSmm LLTF T 3 3 3.0
@ 250 H=0.80
TUFRASSREMAT cIExrCK &R 1 1 1.0
T+ HA ¢ 250
LY Uik AR T SHEEH: H=100 & 1 1 1.0
TR ¢ 250
LY UR I AR T L T# H=300 & 1 1 1.0
TR ¢ 250
LY UR I AR T JEER(FRZ) H=40  {A 1 1 1.0
[(#EMHT] #HAKE
BT CHEmr
HRILS K ERAHS VP ¢50x ¢25 |@EFR 5 2+ 2 5.0
17k ER T ¢ 25 m] 5 2+ 2 5.0
RYUIFLUEHREMAT ¢ 25 m 8.7 44 + 26 8.7
12x2 8x2
RYUIFLUEMFET ¢ 25 m] 48 24+ 16 48.0
NOFERLAAT ¢25 a 5 2 + 2 5.0
6Xx2 4x2
RYUIFLUEYMT ¢ 25 m| 24 12+ 8 24.0
avs ) —kEIFL HI7LiR60mmLL Eeammsk | FL 5 2 + 2 5.0
@170
ki ASSREMAT A5 & 5 2+ 2 5.0
1EK4 A @170
LY UR I AR T LEREE H=150 & 5 2+ 2 5.0
1EK4 A @170
LY Uik yh AR T thEREE H=200 & 5 2+ 2 5.0
1EK4 A @170
LY Uik AR T JEER () H=40  {& 5 2+ 2 5.0
EEERL— TLE 70 W=150 | m 5.4 30 + 14 5.4
BIESHE RBEEE T-25 ® 2 1 2.0




T I & B K & %
No. 1 NO. 1 () NO. 2 TI® NO. 3 Q) NO. 4 TI® NO. 5 NO. 6 NO. 7 NO. 8
& 50mm{t L # - HEKERE 3.0 -=EEL 0.6 =EEL 1.2 =R L 23 -EEL SER L SER L SER L SER L
(A+B+C) 0.9+0.9+0.6x2 A P =R L [oex2cmm =R L | B &t =R L =R L =R L =R L R L
& f 7 i % ,//. 1ol & & | BEEE

AsEhZERR 2.00 6.00 1.80 1.80 1.80 2.16 5.40 5.40 15.36 )| ( 15)

SHEYIMRT t=15cmLA T m
AsEhiZERR 0.60 1.80 0. 60 0.36 0. 60 0.72 0.70 1. 61 4.49)|( 4)

SHERRBEEE T [t=10cmLA T m2
BHO. 08m3 0.35 1.05 0.48 0.29 0.39 0.47 0.56 1.29 3.10)|( 3)

PR IE T ME L m3
BHO. 08m3 0.14 0.42 0.15 0.09 0.15 0.18 0.18 0.41 1.10)| ( 1)

HHIERT AL m3
BHO. 08m3 0.09 0.27 0.21 0.13 0.12 0.14 0.25 0.58 1.12)|( 1)

HHIERT FEL m3
(RC-30) 0. 60 1.80 0. 60 0.36 0. 60 0.72 0.70 1. 61 4.49)|( 4)

TrERET t=10cm m2
(RM=30) 0. 60 1.80 0. 60 0.36 0. 60 0.72 0.70 1. 61 4.49)|( 4)

LERET t=12cm m2
BEZH As13mm 0. 60 1.80 0. 60 0.36 0. 60 0.72 0.70 1. 61 4.49)|( 4)

ERE{RE IR t=3cm m2
BIuonT 0.25 0.75 0.25 0.15 0.26 0. 31 0.28 0. 64 1.85)|( 2)

(£8) 2tDT m3
BIuonT 0.03 0.09 0.03 0.02 0.03 0.04 0.04 0.09 0.24)|( 0.2)

(AS) 2tDT m3
ZAE 0.07 0.21 0.07 0.04 0.07 0.08 0.09 0.21 0.54)|( 0.5)

AS% t

LERKELEEATEEA=REHR




T I #% E & & EBE
No, 1
WA = @ PPg25  AFEPF - BEPT H=0.60m L =0.90m
B B = il CEIPr H=0.60m L =0.60m
EREE = 0030 X 0030 X x / 4 = 0.001
BEHE = X X /S 4 =
Im2%47
% B EA H | & & =
BRI T
AsEHHEIR t=15cmEL T 1.00 X 2 = m 2.00
LR T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.08m3
B LI - - BEE - 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
TR 1. BHO.08m3
LN A A 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HHEE T BHO.08m3
BN FEAE A 1.00 X 0.60 X 0.15 = m3 0.09
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LT 2tDT wmElE  wHAHL
FBUAL | 0.35 —( 0.09 =+ 0.90 )= m3 0.25
FEFH T 2tDT
TGS TR bEE 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 235 = ¢ 0.07

LEERKELEES XA =REHT




T I #% E & & EBE
No,2
WraEs = @  VPg50 L= 0.6 m AEPr
B B = il H= 0.80 m
sEHEE = 0060 X 0060 X x / 4 = 0.003
BEHE =
Im2%47
% EA H | & & i =
BRI T
AsBHEEK t=15cmLL T 0.60 X 2 + 06 = m 1.80
BT 1
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.08m3
B LI - - BEE - 1.00 X 0.60 X( 0.86 — 0.05 )- 0.003 =| m3 0.48
HHEE T BHO.08m3
L NFEED JEA AL 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
HHEE T BHO.08m3
BN FEAE A 1.00 X 0.60 X 0.35 = m3 0.21
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LT 2tDT wmElE  wHAHL
FBUAL | 0.48 —( 0.21 =+ 0.90 )= m3 0.25
FEFH T 2tDT
TGS TR bEE 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 235 = ¢ 0.07

LEERKELEES XA =REHT




T I % E % E #
No, 3
Wik s = @ VP50 L= 06 m CEFr
Brigib B = A H= 0.65 m
B = 0060 X 0060 X x [/ = 0.003
grf%:b/)j? = X X V4 / =
Im2%40
% B o # o= g =
BT
AsEIIER t=15cmbL 060 X 2 + 06 = m 1.80
BHLESAEAF T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.08m3
- A B A 1.00 X 0.60 X( 0.71 — 0.05 )- 0.003 =| m3 0.39
FHEE 1. BHO.08m3
SN SEA - 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
HHEE 1. BHO.08m3
SN T 1.00 X 0.60 X 0.20 m3 0.12
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BEITIRTEIH (FFAEEFIAS 1 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEL T 2tDT malt+ WAL
FiAA 1 0.39 —( 0.12 = 0.90 )= m3 0.26
FEL T 2tDT
FEAZL TR 1.00 X 0.60 X 0.05 = m3 0.03
YN
TR 7/ 0.03 X 235 = ¢ 0.07

LEERKELEES EEEA=REHRT




T I % E % E #
No,4
Wrigi& 5 = B VP50 L= 23 m BEGAr
Brigib B = A H= 0.80 m
B = 0060 X 0060 X =z [/ 4 = 0.003
R =
Im2%40
% B 7 2 = o # o= g =
EHLRET T
AsBIIER t=15cmbL 0.85 + 07 + 23 + 0.7 + 0.85 m 5.40
BHLESAEAF T
AsEHREIR t=10cmbl 1.00 X 0.70 = m2 0.70
i T, BHO.08m3
12 A FEE - 1.00 X 0.70 X( 0.86 — 0.05 )- 0.003 m3 0.56
PR T BHO.08m3
LN A - 1.00 X 0.70 X 0.26 — 0.003 = m3 0.18
PR T BHO.08m3
LN A 1.00 X 0.70 X 0.35 = m3 0.25
FE AR T (RC-30)
t=10cm 1.00 X 0.70 = m2 0.70
LB EAR T (RM-30)
t=12cm 1.00 X 0.70 = m2 0.70
BEITIRTEIH (FFAEEFIAS 1 3mm, A 77)
t=3cm 1.00 X 0.70 = m2 0.70
FEAHL T 2DT e+ WAL
TR 14 0.56 —( 0.25 =+ 0.90 )= m3 0.28
P T 2DT
FEARS TRI7AbEE 1.00 X 0.70 X 0.056 = m3 0.04
YN
TR 7/ 0.04 X 235 = ¢ 0.09

LEERKELEES EEEA=REHRT




A B £ T % B 3 Z
A Bk ) 2V BAr A F B R

+ T " AT + B &7 + C f& it
S LSBT As15cmEl T 1.8X2+1.2 + 1.9X2+2.9 + 1.5X2+2.8 m 17.30 17.00
SHEERE R - BHA As/Z10cmPl T 1.8X1.2 +  1.9%X2.9 + 1.5X2.8 m2 11.87 12.00
NSy 7B T SREIRDA | R B 0.6X1.5X0.02 + (0.6X0.9+0.7X2.3) X0.02 + 0.6X1.2X0.02X2 m3 0.09 0.10
AR IE T iEM 7 L 1.2X1.8 + 1.9X2.9 + 1.5X2.8 m2 11.87 12.00
T A7 7 MET (AA) UE5 en) | A RI20mm + PK-3 1.2X1.8 +  1.9%X2.9 + 1.5X2.8 m2 11.87 12.00
7277 LS 2t « AsHll 11.87X0.05 - 4.49X0.02 m3 0.50 1.00
HEFE b= A AsH 0.50X2. 35 t 1.18 1.20
38 E L aE R 2t + 0.09 m3 0.09 0.10
AR LA W - B 0.09 m3 0.09 0.10




